(M

)

)

4)

(6)

(7)

(8)

)

(10)

“Provision to parents of giving education opportunity to their children having age 6 to 14 years .” The

above section is added in which set of schedule 86 of Indian constitution under fundamental rights?
(A) Section-11 (B) Section -2
(C) Section -86 (D) Section -4

Who is the author of life sketch of Mahadevbhai Desai “Agnikund Mein Uga Hua Gulab™?

(A) Manbhatt (B) Narayan Desai

(C) Jayshankar Desai (D) Mahadev Desai

Who 1s the author of stanza “Harino Marag Che Shoorano™?

(A) Kavi Preetam Das (B) Manishankar Ratnajee Bhatta
(C) Damodar Khushal Botadkar (D) Narsinh Mehta

Function of Union of India is mentioned in which part of Indian Constitution?
(A)6 (B)4

(OGN (D)2

Which Indian sportsperson won bronze in 51 kg category in World Boxing Championship?
(A) Sukhdev (B) Nishant Dave

(C) Husamuddin (D) Deepak Bhuriya

To encourage Indian people for independence movement which English newspaper has been
started by Gandhiji in India first?

(A) Young India (B) Youth India
(C) Vartaman Bharat (D) Aandolan

In which age Himalayan Mountain Range formed?

(A) Satyug (age) (B) Archean age
(C) Jurassic age (D) Tertiary age

Stars of sky shine because of which effect of Science?

(A) Diftusion of Light (B) Refraction of light
(C) Diffraction of light (D) Division of light

What is the share of industries in gross national production in India?
(A)25% (B)29%

(C)32% (D) 39%

In which part of Indian constitution, fundamental duties have been included?
(A) Part-3 (A) (B) Part -5 (A)

(C) Part -4 (A) (D) Part- 6 (A)
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(12)

(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

" S
Who was the first person to receive “Bharat Ratna™

(A) Dr. Rajendra Prasad (B)Dr. garvepalli Rzull.mkrlslman
(C) Mahadevbhai Desaj (D) [albahadur Shastri

In which of the following programmes interactive board is used?

(A) Pragya Abhigam (B) Bal Project

(C) Virtual Classroom (D) Gyankunj Project

r?
: s . secondary school?
Unique ID of how many digits is given to the students ofasecondary

(A) 14 (B) 16
(C)18 (D) 19
Educationisa subject of which list in Indian Constitution 7
(A) Central List (B) State list
(C) Joint List (D) District list

In which organ, there is insulin production?
(A) Stomach (B) Pancreas
(C) Large intestine (D) Brain

In which country Hockey World Cup (Mens) - 2023 was organised?

(A) India (B) Japan

(C) France (D) Brazil
Where is the World’s Biggest Mineral Oil Purification Plant?
(A) Jamnagar (B) Ankleshwar
(C) Digboi (D) Dehradun

How many leaves including holidays have been decided for Gujarat Secondary and Higher Second-
ary Schools for the year 2023-24 by Gujarat Secondary and Higher Secondary Education Board?

(A)79 (B) 80

(C)81 (D) 82

According to National Education Policy-2020, which institution has been authorized for monitoring of
minimum commercial and quality standards followed by State/Central Schools?

(A) PARAKH (B) SWAYAM

(C) DIKSHA (D) SSSA

Up to which class education is expected in mother tongue in National Education Policy 20207
(A)Class 6 (B) Class 8

(C)Class 10 (D) Class 5
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(24)

(26)

27)

(28)

(29)

(30)

[fthe syllabus is changed because of business and industries then this is considered as effect of which
factors on educational objectives?

(A) Cultural factors (B) Social factors

(C) Economical factors (D) Ethical factors

“Without thinking on what a person is doing what he should do™? This thought is connected with which

goals of education ?

(A) Ethical goals (B) Goals of attaining knowledge
(C) Goal of complete life (D) Goals of good use of free time

Objectives, syllabus, institutions and time limit if all of these are decided then this is considered as

which form of education?

(A) Informal (B) Formal

(C)Illegal (D) Joint

Which program does not directly apply to Informal learning?

(A) Knowledge of alphabets (B) Examination

(C) Education of business (D) Deaddiction

Which of the following issues is not included in three issues of learning process?
(A) Starting (B) Result

(C) Process (D) Evaluation

Some children are introverts, some are extroverts, some are talkative and some of them are shy. This

type of difference in children is known as -

(A) Physical difference (B) Difference in personality

(C) Ditference in hobbies (D) Social difference

Which of the following is not included in different intelligence quotients ?

(A) Intelligence Quotient (1.Q.) (B) Spiritual Quotient (S.Q.)
(C) Regional Quotient (R.Q.) (D) Emotional Quotient (E.Q.)
Who has developed vocational interest modification?

(A) McDougall (B) Strong

(C)Morgan (D) Garrett

Which experiment is used to measure abilities/powers like Art, Music, Creativity in a person?
(A) Attitude Criteria (B) Interest experiment

(C) Zest/Rasa modification (D) Aptitude experiment

Which is not included in three types of internal processes in a class?

(A) Teacher-Student Behaviour (B) Student-Material Behaviour
(C) Teacher-Material Behaviour (D) Student-Student Behaviour
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(D

(36)

(37)

(38)

(39)

(40)

: , e mi sition statistical m
Which of the following is not included in commonly used three middle po Casures?

(A) Mean (B) Median
(C) Mode (D) Midpoint
Which is different from the three tests of evaluation ?

(A) Written (B) Oral

(C) Practical (D) Functional

With which of the following is spreadsheet related?
(A) Microsoft Excel (B) Microsoft Powerpoint
(C) Microsoft Word (D) Access

Whose philosophy of education is shown in “Framing and Clading” ?
(A) Gijubhai Badheka (B) Nanabhai Bhatt
(C) Taraben Modak (D) J. Krishnamurti

Education by productive labour, for productive labour, and can only be of productive labour”

(A) Mahatma Gandhiji (B) Ravindranath Tagore

(C) Mr. Arvind (D) Swami Vivekananda

Which of the following principles is not included in principles of John Dewey?
(A) Principle of utility (B) Principle of inclination

(©) Principle of labour (D) Principle of zest(rasa)

New India Literacy Program (NILP) has been started for illiterates of which age group?
(A) 15 years and above (B) 15 years to 55 years
(C) 6 years to 14 years (D) 21 years to 65 years

Which is known as one nation one digital platform ?
(A) PMeVIDYA (B) BISAG-N

(C) DIKSHA (D) Vande Gujarat Channel
Who talked about learning by senses ?

(A) Dr. S. Radhakrishnan (B) Ravindranath Tagore
(C) Mahatma Gandhi (D) Maharishi Arvind
Who started learning by senses for special children?

(A) Maria Montessory (B) Grace Fernold
(©) Jim Piaget (D) Ivan Pavlov
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(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

Which of the following pairs of psychologists associated with study is correct?
(A) Trial and Error - Vygotsky (B) Behaviourism - Pavlov
(C) Constructivism - Skinner (D) Conditioning by factors — Thorndike

Which of the following is not a characteristic learning process?
(A) Experience is necessary for learning

(B) Interaction with environment is necessary for learning

(C) Learning can enter from one condition to the other

(D) Memory is necessary for learning

Who gave Discovery learning approach ?
(A) Robert Gagne (B) Jerome Brunner
(C)Bandura (D) Ausubel

What will be the area of a circle having radius 14 cm? A formula is used by children to answer this
question. Which intellectual skill he or she has obtained?

(A) Differentiation (B) Concept
(C)Rule (D) Solution of the problem

In which of the following disorders intellectual skill of children destroys?

(A) Down Syndrome (B)ADHD
(C) Cerebral Palsy (D) Autism

Which of the following will be on top level according to Bloom’s Taxonomy?

(A) Evaluation (B) Creation
(C)Isolation (D) Utilization

Which of the following is unsuitable in achievement test ?

(A) Sufficient time given to the students to answer all of the questions
(B) Class is related with progress(development)

(C) Education work is given at the end

(D) Questions are selected to test the skills of a student

Which of the following measurements of middle position cannot be shown?

(A) Mean (B) Extension
(C) Median (D) Mode

Which of the following is not true for standard deviation (  )?

(A) Group Category will be as much as the low value of standard deviation

(B) Standard deviation increases by the addition of any constant number in marks

(C) Ifall the marks are multiplied by only one number then standard deviation increases at the same rate
(D) Standard deviation is used to know the variability of the marks
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(50)  Which of the following is not a characteristic of E-content?
(A) These are only in digital format
(B)Itis presented by webpage or any other medium
(C) It contains only animation
(D) It can be linked with QR code.
(51)  Which ofthe following is not OER ?
(A) BISAG -N (B)GROWER
(C)NROER (D) e-pathshala
(52)  Which of the following subjects (issue) does not apply in the concept of E-learning?
(A) Leaming—Teaching is a present time field.(B) Learning has only one option.
(C) Classlearning is interesting (D) Information s available online.
(53)  Summary of which cannot be applied excepting its related groups. This is what type of modification?
(A) Experimental modification (B) Survey
(C) Basic Modification (D) Functional modification
(54)  “Children is creator of knowledge and not consumer.” This is the conclusion of —
(A) Behaviourism (B) Naturalism
(O Rationalism (D) Constructivism
(55) Learning is a natural process and not manmade. Who gave this concept?
(A) Aristotle (B) Rousseau
(C) Froebel (D) Montessori
(56) R,U,X,A,D,?To complete the series what will replace the “2” question mark
(A)F (B)G
(C)H (D)1
(37) 1,3,3,6,7,9,9,12,21.9 To complete the series what will replace the “?” question mark
(A)10 (B) 11
(€12 (D) 13
(38) 10, 100,200,310, ? To complete the series what will replace the “?” question mark
(A)400 (B)410
(C) 420 (D)430
(59)  Inacertaincode TEACHER is written as VGCE] GT then in the same code CHILDREN can be
written as?
(A) EJXNEGTP (B) EGKNFITP
(C) EJXNFGTO (D) EIXNFTGP
(60) Inacertaincode TWENTY is written as 863985 and ELEVEN is written as 323039 then in the
same code TWELVE can be shown by which number?
(A) 863203 (B) 863584
(C) 863903 (D) 863063
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(61)  Inacertaincode language “123" means “bright little boy™ and 145 means “tall big boy”. In the same
way ‘637 means ‘beautiful little flower” then which number will be there for ‘bright” 2
(A)1 B)2
(€)3 (D)4

(62)  If+means x, x means -, + means +and —means + then which of the following numbers will be the
solutionof 175-25 + 5+20x 3+ 10

(A)Y77 (B) 160
(C) 240 (D)2370
(63)  Select the appropriate option for * 2 in the following figure
20160 4
? 4
430 8
% | 24
(A) 860 (B) 1140
(C) 2880 (D) 3240

(64) How many triangles are there in the given figure?

e

(A)15 (B) 16 )17 (D) 18
(65) What will be the angle in degrees between minute and hour hand of a clock at 3:40 ?

(A) 140 (B) 150 (C) 130 (D) 120
(66)  Selectthe odd pair:

(A) Yoghurt-milk (B) Sandal - leather

(C) Peanut - oil (D) Sugar— sugarcane

(67) Arrange the letters of the given word alphabetically.
(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE
(A)3,2,5,4,1 (B)3,4,5,2,1
(C)4,5,1,3,2 (D)3,1,2,4,5
(68)  Iffirst day of aleap year is Sunday then how many Sundays will be there in the same year?
(A)50 (B) 51 (C)52 (D) 53

(69) A persondrives his car 50 km towards east after that he turns right and drives 30 km. Then he
turns west and drives 10 km. How much away he is from the starting point?
(A)20km (B)50 km (C) 100 km (D) 60 km
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(70)  Select the different figure. . D
A B
C (D)D
(A)A (B)B ©
L T S [Fxefl [ 69, _
(A) 21y B) »[Ra
(72 A SHHIRY A1 Bl 6.
(A) dsauy (B) seuqat (C) vy (D)W
(73)  cuiell adledl 2t Gl ey « oy - AU HSLR L]
(A) sdl (B) sl (©) eud (D) H2s
(74) 25901 Breollofl gaqduy el €ldl, 22udet SuRd el o] w12l Sl 2 51009 5 %Wl
(A) gl (B) Y45ds (C) 815 (D)2
(75) v Aol 560 2
(A)Yes (B) €lsdl (C) w5311 (D) s[e
(76) ‘Az’ o)) (Qzgiell s10¢ 9 ay ?
(A) 30y (B)aaq (©) s (D) stelgy
O7) el ol Wy g o Sl d Rsey s @) ?
(A) vleqe - 915 (B) A4 - [@34qqy (©) 23al3y - qURY  (D)uydy) - YEdl
(78) =St naRY Quar g gy Ul uz pmad 33 Glri 21147 - UCEAYS Hiewll 25 9108, 52 7
(A) &l (B) 2s(uy (O UlRst (D) Hixd
(79) [P 6B w4 44l 61U dq o5y 84697
(A) ! ed FRiq a1
(B) H2tuat 4§ Renslol gy 53 S8 YU AL, Grizys)) 4l edR aad] ys g
(C) % ey : HIz] qvyie) 99 AU wef],
D) ... AR g™ S
(80) 268 24t Al w512l 91681f) w18 o 4 Sl Qe Risey 54 9
GVNERRTERARK (B) g2 - sou, ERSH
(C) sict - H-, 2id:5301 (D) $2 - (33w, 34
(81)  2tlie sy \th'l[.?sd. 52 08 GG oy L€l Ag sy 546 ?
(A) M 20 unt 3 s219 aizay ). (B) 513 donang 21y 3 o SRR
(©) 241 9 9| 2022 sfaera ofy ey (D) €35 21150io) oy sysug £y 539 A
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(82) ‘2elanl ueetl M@ o ?

(A) 2l + A2 (B) 2 + a2
(C) e + i (D) 2ol + 2
(83) 2l asaimi sHBL as’ sy 7
(A) V1 AHAHL LS| ZRUR ¥l (B) 181 U212 MR SHUEL
(C) ARSI g2l 2L U 24-U% AWY B . (D) 2015 5 olledl L eld.

(84)  ‘t9ol UR AR, Avtal-l Guid w3uR 51201d (lagell.’ - atsuMl 2uilEd $3d 208 vIv
(Fuifasivei-l sul s 6 ?

(A) MRl BGu@gye (B) Ml [Bullasive

(C) Aarus Bufadmey (D) a-tas BailQdue
(85) ‘ML Al AL A BA0 % 3 Ay - v 512 oAl

(A) A58 w1 s12 (B) >[5 21d 512

(C) 3Us AHAS51R (D) GunL A s12

(86) Mahesh was too smart. (Remove ‘too” without changing the meaning,)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.
(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

(B, = o INS Arihantis.......cccoeee. Indian Naval ship. (Fill in the blanks)
(A) The & an (B) An& an
(C)A&an (D) The & the
(88) Most students have brought their homework. ..................... of them have not completed it yet.
(A) None (B) Few
(C) Each (D) Alittle

(89) L MIAL AL SULAL. - il ALsA 2Als5A A% HIMIdR g U ?

(A) I cut my hair. (B) Iclipped my hair.
(C) I got my hair cut. (D) Ihad anice hair cut.

(90)  Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary

(C) corporeal (D) tangible
(91)  Give the verb form of ‘little’.

(A)alittle (B) unlittle

(C)belittle (D) bilittle

HINDI (A) : (11724)



Y

N ?’,
(92)  Change the voice : “What caused COVID-19

(A) What was COVID-19 caused by ?
(C) By what is COVID-19 caused ?

(B) What was caused by CO\/ID_19 .
(D) By what COVID-19 wag Cause 5

ite in meaning of the underlineq Word - «
(93)  Select the word or phrase which is closest to the opposite 1n m S d-

|
will never aceept your request.”

down
(A) turn over (B) tux:n
(C) tum up (D) reject
' ' Tastai S

94)  Addasuitable question tag : Radha, one of my neighbours slipped off a staircase 9

(A) did she (B) does she

(C) doesn’t she (D)didn’tshe
(95)  Fill in the blanks with appropriate set of prepositions : Nidhi travelled............... hermotherall ...

the world when she was 17 years old.

(A) by, above (B) for, around

(C) with, around (D) with, over
(96)  Tum this sentence into English : “s% gl & L il Bisell Glotell RS 915l e, ”

(A) I'could still saw her standing there alone. (B) I could still see her stood there alone,

(C)Icouldstill see her standing there alone. (D) I canstill see her standing there alone.
(97)

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacatiop
..................... May2023. They ... to Manali for a week.
(A) for, had gone

(C) for, have gone

(B) since, had gone
(D) since, have gone
(98)  Mantra got the first prize last week. Find out the correct opti

(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

(99) Ravi....ooon in this company for five Years. Find out correct form of verb from the options.
(A) works (B)is working
(C) has been working (D) have worked
(100) Find out the correct spelling from the options.
(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
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(101) yreared i G g YgHIy |

(A) SRR - O ATl (B) 3Trefie - #ft
(C) FIR — FHH (D) T - aran
(102) ¥ % feim svgam fman =1 /& 94 g0 2, W favm g |
(A) 3TTeAT &1 7L | (B) To g3 i deft ?
(C) o T T99 el faehd! = | (D) 7 3T TS gL B |
(103) Y@iferd w=dl =1 3fe@ Wit g A, U faam g |
(A) TTE F R T T | (B) <5 el T @ amed TE ¢ |
(C) e AT =fas ¢ | (D) T TR STER F et |
(104) TuTHIT &9 | Y5 91 FA-T 8 ?
(A) THIR Tk STARTT 376 ¥ | (B) I & &1 a1 @ %
(C) 31 1o Tehe H 371 7R | (D) ! ST HIFel & |
(105) fere i AT 0 W& = 2, e frere gfw |
(A) T - TR (B) €1 - Hua
(C) 3T5F - 7= (D) T2 - vl
(106) 9= 3refaren wsg gg=IfaT |
(A) g (B) T
(OE (D) faeat
(107) ‘eiifeofl’ vree = i forsesg o 2mm 2
(A) Y + afgont (B) 3181 + 3fgoit
(C) 37edt + feuit (D) 37l + Sfgof
(108) e v o ‘57" o™ = 9T €l gam & 2
(A) difed (B) wiferd
(C) yfor (D) &ftre
(109) ‘HeIErE’ Yee GHIE H HiA-H FHR § ?
(A) FHIRY FHH (B) 37vE HHE
(C) 3UTE TR THH (D) 5% A
(110) @& 3T 36 314 & Heitr H Terd feheq SH-91 ¢ 2
(A) T3 AT - oMz | qg (B) ¥ 5= <1 - 995 2
(C) H&H ST ~ Tfoord &I (D) FelsT g - fafaa g
(111) ‘uftomm o ot &1 - o1 fiel el shered g | -
(A) BT T 3T Uil (B) T A =19, IS I 3119
(C) &1l o i urd (D) et %1 il = ¥R Bl A T B

(112) ‘Ta=n gya, 3feaed B, FD =haw, T3 &0 faar’ - i o Jaifed wes 9w’ = faegned w=
qeIU |
(A) F= (B) T
(C) = . (D) g
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a L 1 T W‘ 'aﬂg‘{
(113) o ergh s i e, <ot o e 4 A <if & Ywifed T TP o

(114)

(115)

(116)

(117)

(118)

(119)

(120)

(121)

(122)

(123)

(A) Fr=et (B) w1

(C) argd (D)F=
Ferremr & 5t sirerarers s 35 gy § e faed R
(A) BT - (B) W - WA
(C) =y - ey (D) =T - 9T
T e 1 wif forede o A 2 \

(A) form + o (B) fare + <
(C) o + i (D) feree + 37T
FISIE] 1 T it 2 ¥ ferebey 9w :
(A) Tt - Serer (B) et — 1o
(C) a1 - farg (D) & - T

THERA 3wt A e feren w2

(A) Tt =g 1 S~ wreron R iy v 37 7 g1 ST

(B) 31 3 o) ¢ a1 o1 et e g0 ) o =t i T e SR 4
(C) e i g foren & fore & oo 1 0 oo g e O

(D) W afores 5 %, forer & = i) e &

ﬁ'@‘laﬁﬁfﬁ@ﬁwmmqﬁ%sﬁmﬁm
Q) H R Fm R @) (B) Wiferst wigd gfigmet off | .
(C) TR, @ SR | (D) I 4l et T €, W e Tef e ¥ |

Wﬁ?ﬂ%aé%ﬁdaﬁmﬁmaﬁq—m%?
(A) STSEfeTT 11 - 3112 & T o (B) TR 31 - q@ 2
(C)aﬂ@?ﬁﬁmﬁm-ﬁwﬁrﬁm (D) 9%H1 <1 - Gr@r &

retel it e Sis weatg |

(A) =M - <irh (B) frrez - e
(C) Hifeeh - TR (D) T - et
"D T N A 1 T T T - e 2
(A) R (B) 7siEa

(C) 3=’ (D) wifean

YR a9 39y T 2 2

(A) S99 (B) #rameney

(C) Farge (D) 72 # Gy

T o T U Wz 3 el & e ferorew s &
(A) 9gET % 99 9 5T - ifea

(B) 93T 1 g - 1ag

(C) ¥4 WG Mg TN g3 ST 1 gy - w7y
(D)m-ﬁv%ﬁm@raﬁmvﬁém%mﬁaﬁ%—ér&
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(124)

(125)

(126)

(127)

(128)

(129)

(130)

(131)

(132)

(133)

(134)

fir= svefaTen W G@U |

(A) TR (B) &

(C) ¥te (D) &

[T Y51 H e g U= |

(A) SIS~ (B) fig@= - gy

(C) sTTaf¥Te - d=e (D) 3 - TR
ﬁéwmm,ﬁmﬁqﬁlwm@ sy, T fiier A 1 - et 3 Taf
A g ?

(A) HEH (B) FR

(C) gt (D) &

TR Y I A, T R e, ¥ aneh I - i F W ‘e’ wee o o1 o B 8 2
(A) e (B) Hftof

(C) g=oit IERET

AT I Hereds 1 B © 2

(A) o= (B) =R

(C) €t (D) AT

YRS g W HE g weEt |

(A) IRET - ST, g - SRR (B) 7 - fayrg, fu - a1

(C) T - I3, T - FRIA (D) afet - I, eht - afeem

g ar gg=T | .

(A) T oo foeiet agd T o HeM | (B) S &l 3 B - B we Y e i |
(C) Af Sehret G Al T HA | (D) Hafea 21 & Faren Tl e |

it & ad 1 @ € 1 - o B afead Fgare A -

(A) it 2o der 2 (B) Uit & 2o § 7 |

(C)EE R TN A@R (D) it <o f @ e |

e a3 AR A hA-T e e 2

(A) ‘TeEe’ i G 3 IS B AR S € |

(B) S <Hfaran 3 =l s o fore gen w9 E |

(C) TTETR T i T 2 |

(D) T 1583 3 wraret # 37 e g |

iy - 7 e T A, gfE T w - dfer e e o e e A e ?
(A) I F TR (B) ferer & < e

(C) g A
W%ﬁq@mﬁaﬁﬁm forehed T |

(C) =1 Erarr 1 & - TSl (D) T T STl - Fere
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(135)

(136)

(139)

(140)

(141)

(142)

(143)

(144)

(145)

T wm%,'mm_gﬁ@wmﬁ%u%%ﬁ
T e, B -
"l e 1 el ¢ 2

)
R

() (B)UZ

(C) wreAt (D)%

! ! | —WEWW%7 - TN~
(T)%m %ﬁa;;m (B) el feR H 16 A Beft
(C) W T & 31-3] avf e € | (D) STHFRT < ST 1 1 3y 3,
TR e e - yrerengg 3 for v v A 2

(A) e (B) =g

(C) foram (D) fegean

HA H 315 o B ¥ 2

(A) 3141 719 (B) W 1et a1 efifer

(C) & gam (D) HeR S T
‘a%ﬁla’mmm?ﬁméﬁsql

(A) Frerr (B) ferezar

(C) "3y (D) A

T T T e o ~ R A’ 9 B 2

(A) TR 51 6 g (B) THMY 57 T vt o |
(C) T3 T Y1 7 gy | (D) & T ¥ g ey |
‘aganw%l'amff‘mﬁm’% ........

(A)T7 (B) 370

(C) D)
i@ﬁ%%ﬁﬁmﬁﬁw?%ﬁ@ﬁqﬁﬁﬁql

(A)_@émaﬁmﬁémn (B)W%W@Wﬁ{%n
(C) 77 @ feran, 8 5 iy | (D) i TG TG v 8, 74 svey e |
" e A 2, V' R i (arema) FA-H T

(A) e B)3

(C)dr (D)5g

I F R T, T e o’ —frﬁﬁﬁsraaaaﬁwaﬁrmhm

(A) *3T9 STeTFR (B) a1 a1

(C) T9% 3TAFR (D) stfcerifa ey

S H s 9, STA0T H I | Yetan 7 ST &1 A 1 2 gapgy T2 T &y =57 e
RIESES

(A) Tforedt yro T (B) =r¥iarge

(C) =z v (D) Teriifire faam

HINDI (A) : (16/24)




(146)

(147)

(148)

(149)

(150)

(151)

(153)

(154)

(155)

(A) T (B) iy

(C) &1eq (D) wfqa

FlER T4 T B TR I W e A s fe o o
(A) el TR (B) 7oz =g 33
(C) Hell Sf1=d (D) o =nrz
‘g@a%mﬁaﬁﬁm%aﬁmwmmv

(A) 3T SAfHR N 375 =t fire =77 |

(B) A =t 1 7=t =it firet -y |

(C) &4l o =i il 798 =i figet sy |

(D) 9 Al &I Bl =T fied <71 |

"F19 ST I ST 91 2" halad & 21 Farsu |

(A) 3191 1% STT=71el (B) W14 1 AT T4
(C) WAeT 1 YHIOT it Al a1 (D) T % 2Tel Y
TRreat ot fefad ‘T T Pe-w it e 2 |

(A) FEHLT (B) &Ml

(C) T@rf=a (D) 2ATeHF

‘S{Ta1’ ¥Teg <l qaTgdTEl Yes FAET |

(A) 3T (B) A

(C) 31qd (D) 3=
SRR LR L CR s LR L

(A) TS SR STIEIRTET, (B) Weerhg SR I
OEGEEELEEERED (D) ¥ AR foFIeHT
s Tt wfect o firares feRdt ot < & 2

(A) HioTeiere 7w (B) sadd aqaal
(C) TH=fd e (D) 9Ra=g Bz
‘memﬁ’%mwmauaa??

(A) Favrara (B) SagATHD

(C) =T (D) fereamiarh
ﬁmﬁf@ﬂamﬁfﬁﬁaﬁammwﬁﬁﬁw

(B) o 3 i 1 Al 1 T A

(C) T 3 e el A T T |
(D) B ¥ il F1 T A e T |

HIND] (A) (17/24)




(150)

(157)

(158)

(159)

(160)

(161)

(162)

(163)

(164)

(165)

(166)

HINDI (A)

o T A7

qlaum qu qau f (B) q’g’} Hiepl
(A) ’ﬂﬁ (D) =
(C) A A EFR \
X e ey g - VIfeRT mTEFﬂ"J%l
it sl 3 A fotr 1 1 PV i e
(A) W D) &1 T
(C) WaEH i
e, e, el R G T € o
(A) gHfa ( )m@ﬂ"aq
(C) Fifererd & gy (D)
Sy e A o Rt IR o Sead € |
(A) ST, Yaeiars i (B) eI, Grar el
(C) Trferst, Tmif =+ (D) i, T4, 78T Rl
frefafaa sl % 4 @7 & Fia vayarR e a2 |
(A) I (B) W
(C) ™ (D) ¥ <1 wIfert 9@ |
ST AR o hf R e i A A
(A) T (B) 321 T
(C) AT 59 (D) T T
3% e T 2 e 3 S 2 7w s, g S
(A) = (B) Treret
i (D) =
(A) 3T g1 A
EXCric WWW%WWW%'
(A) dr=a=F g3
B .
(C) AR ((D; W?m
(A) FR - 2far]
: : (B) wferen -
(C) =nfaear - 4R
i 5 | (D) Rt - ey
P 1 4 6 9 3 St 1 ey 7 oy
o 2T (B) 352y
(C) fagu il

(18/24)




ERIEEICIENEE R ; . .

() (B) Arerdt
(C) e el
(168) W*gﬁwﬁmmﬁmm
(A)m end] g (B) =T, TR7 afe el
ey T (D) e, e i T
(169) ﬁqgwﬁft "SI’ TIAT S 1T TR -1 & ?
(A) T I (B) T
(C) el |8 (D) I
(170) TR A A e | R A
(A) gl (B) oI
(O3 (D) sl
(171) ORI X0 T TR TR T oo 3Iqifyy | et fopan o ?
(A) Tl (B) 3T ST
(C) 9= fasqua (D) 9TRA T
(172) TR TR ol T I o e
(A) TT + W (B) T + R
(C)at+ R (D) T: +
(173) ‘o & < gear 1w a1 g
(A) TTEd T Hid T A (B) 9 =
(C) IR TfsH T (D) fe o Ha B
(174) frefefiaa 3 A FRearEs 9 Ted | %
(A) 9% TR S (B) &1 5 2l _
(C) Ty Tt o1 (D) 3! AT HTeHE B
- (175) ‘ﬁ%m'@‘mﬁﬁﬁ@ﬁa—@mmmqﬁﬁmw%?
(A) Fife (B) F4TE
(C) 9@ (D) T

(176) aﬁﬁiﬁhﬁaﬁaﬁ?ﬁ?—mvﬁ@w%l
(A)gﬁmw—mﬁmw
(C)ﬁmzﬁ—m@a‘ﬁmm

(B) el AT - et TS
(D)s&;ﬁﬂm—wﬂgﬁm

(177) ‘= % 9 g@r T’ 1 reRT o O Y ST WA § s Tk e 2
(A) BfETE d=a (B) &= 9IS Freidt
(C) 3@ =it (D) W o

HINDI (A). (19/24)



(178) wfira 3 Fadtal fe, - fob wareRfa ) e vfi 8 2

(A) FAR (B) L&
(C) gerfarm (D)@
(179) “werfa wifcrer’ wia o wifeet faen F forar o @ 2
(A) frafar (B) Sfrart
(C) T (D) Fari
(180) St S figa ayoetl, < ziefy Fo ot - o ey i fore T 40 & 2
(A) ghiram=<A4q (B) wereelt gl
(C) Yo=ia fruaet ‘Froen’ (D) STI¥iH g4Te
(181) & faur gfm
(A) 5au 39iq T & |

(B) 11 9 %1% it a1 11w &Y = Fopann ) ey ey ¥
(C) &7 ol o e % o1 B 217 e araeen I feoR T YROT VRt Faetre & |

(D) Tt +ft w11 e =71 qenom e 3 |
(182) %ﬁwﬁw%mﬁﬁmw%mﬁwmquﬁm%?
(A) I vife (B) 49 wifer
(C) Frem wifem (D) 1o a1 ot
(183) ‘W@ﬁmmm%%ﬁﬂ%mm—nﬂawﬁﬁmaﬁwmﬁmmm%r
- 39 faum frga 2 2
(A) T (B) Ufer
(C) 91. w& e, fagier (D) &
(184) rerd faam we=nfw |
(A) 9T U TAIRE o 3|

(B)Wﬁfﬁnwﬁ%mﬁamaﬁmﬁwﬁaﬁwm%l
(C)W%Mwmﬁ‘mw’wrﬁqg%:
(D) [ 1= 1 i e a5 <7 &

(185) == T i o faftr a0 3w sy firfiy T T STref & 2

(A) Ay fafy (B) vr= fafy
(C) ar fafy (D) A fafly
(186) B! % wrE e F1 el g & e vy

ST T B hall R, STt Ryreqes
(A) T Y= 1 HEt vl B gaw |

(B)mwmmwﬁﬁmﬁ%ﬁaﬁmﬁmgmﬁ|
(C) =13 T ”m%mweﬁwmﬁqmlﬁm
(D) Q4R T4 70 ] i Bors N ford |

(187) reard foren o ferm A~ waferm sfo =2t i -
(A) Foveh v 1 1o 3 et 3 ferad | (B) 12 1 a4 3 ety sy |
: (C) sla-\af\;i?l -EIIE[ \31‘& Eg\aal:” | (D) NESH %5‘ aa-aq ﬁﬁl ﬁ:_@m |
HINDI (A) (20/24) |



(188)

(189)

(190)

(191)

(192)

(193)

(194)

(195)

(196)

~ HINDI (A)

3 maqagn .
forgr I € 2 ¥ Ufert gr o g § 17 - @ AR A
(A) T
(C) <. et faard (B)W
(D)E”T.&mﬂm
aa-T o T T g ?
(A) TR T H 0 Dy

i (l)qﬁﬁ'f:%ﬁmq'[ 2 fg
(B)MW%WWWE:(1)@%(2)@%8?#1?% fodh e
(C) T T A H 'weg’ 7

797 % ) TR & TH -9 & ?

(A) 3”:”‘1:*?;@33'?1@1?@ (B) 37597 T G

(C) & U 9™ (D) sifireafa wa Aiam
%ﬁmﬁmﬁmmwﬁ%m%r _ fverar 3 e fonegor g 1 39T
(A) T § e i SR (B) 7l @ 31ged =l 3T

(C) o & 1 3 AN (D) T/ Y T H 3R

T 1 STefEed o SHe! Ao foa 3 fora 2 e 1 _ freeff w7 aTifRra AR aREd
forg SeEd STHIRE € 2

(A) TATHE 383 (B) ST 5%

(C) FASTHITT 3278 R GECEE S
Wmﬁawmwm:mmwmmm%lﬁwmm
fomed gfev |

(A) Frteror, SeTeeer Tfd, TE, FrreeteRtor
(B) Frefiantor, S0 T, Frriteqor, qdierm
(C) Jeretur ggfa, PRI, iR, TeTT
(D) SeTeT0 T, T, Tordyeyor, FrawTeRT

mwﬁwmaﬂﬁa@wﬁmwm%ﬁa@mmmmﬁ?

(A) foren € (B)W
(O REA (D) 9feer (HiSE)
qﬁﬂﬂ%ﬁﬁqﬁﬁﬂﬂﬁ@@ﬁ%@ﬁﬁ@l \
(A) 37T i Fordr e & € | (B)mzw,a‘mm,mﬁrmm%l
(C)Wﬁwmmﬁméﬁ?%l (D) TG 3 g Fert st fre 4 ferarel el <
;ﬁamwﬁaﬁqmaﬁﬁwmgﬁl' freeff A 9E STAfed STIER IRerdA fhd 3exd
e ® ?
(A) AT KT (B) TSI 34
(C) A 3ETA (D) e IE¥

(21/24)




e

)7) T 1 U faenefl g sfverfad 5 svawed e ST ﬁmmﬁ'{&ﬁgﬁr
(1¢

LR

(f\)arwwﬂqﬁaﬁmmmfim

(B) 39 faenefist gier | .

(C) 3171 fireqant 3l A & WY 43H T4 B =17 |
mmmﬁ@wmmmmw&m%mmmm:

(198) aﬁmﬁmwﬁwﬁﬁr&n%mﬁﬁ%ﬁ@aﬁﬁﬁ?—ﬁﬁfﬂfaﬁ%,
(A) S=Ir fafy (B) Fwer w13 ferfly
() freet fafyy (D) wewi fafyy

(199) %ﬁwgwﬁwmﬁtﬁrﬁﬁﬁﬁ#m%l
(A)a%é@qmﬁaﬁ%?@mmaﬁﬁmmml
(B)ﬁwﬁaﬁwé@qmm?ﬁaﬁaﬁml
(C)aw%mmﬁmeﬁaﬁﬁm%@ﬁﬁmﬁéém
(D)aﬁﬁamﬁﬁmmrﬁaml

(200) ﬁ@mﬁfﬁ'ﬂm&&nm 3Ry,
(A)é@qérﬁwﬁ‘@mr%r (B)%W?ﬁﬁrmﬁa‘m%:
(©) 37 =1 fren 4 2m 3 (D)ﬁ@ammﬁﬁ&nﬁaﬁ%r

2 XY
HINDI (A)

(22/24)




